
 
 
 

 

 

 

 

RATIO & PROPORTION (tpfpjk; tpfpjk; tpfpjk; tpfpjk; & rrrrhptpfpjk;hptpfpjk;hptpfpjk;hptpfpjk;) Work Sheet 
 

IMPORTANT FACTS AND FORMULAE:  

 

1. RATIO: The ratio of two quantities a and b in the same units, is the 

fraction 
a

b
and we write it as a : b  

 

2. PROPORTION: The equality of two ratios is called proportion.  
If a : b : c : d, we write, a : b : : c : d we say that a, b, c, d are in proportion.  
Here a and d are called extremes, while b and c are called mean terms.  
Product of means : Product of extremes.  
Thus, a : b : : c : d ⇔  (b × c) = (a × d)  
 

3. Mean Proportional: Mean proportional between a and b is ab  
 

ii. COMPOUNDED RATIO: 
 
The compounded ratio of the rations (a : b), (c : d), (e : f) is (ace : bdf).  

 
i. Duplicate ratio of (a : b) is (a2 : b2).  

ii. sub-duplicate ratio of (a : b) is ( ):a b  

iii. Triplicate ratio of (a : b) is (a3 : b3)  

iv. Sub-triplicate ratio of (a : b) is 
1 1

3 3:a b
 
 
 

 

 
Important Point: 

 

Golden ratio = 1.61803398875 = 1 : 1.6  
 



Work sheet  
 
1. If A : B=2 : 5 and B : C=4 : 1, then find A : B : C 

a. 2 : 9 : 1  b. 4 : 9 : 2  c. 8 : 20 : 5  d.  4 : 18 : 3 
A : B=2 : 5 kw;Wk; B : C=4 : 1 vdpy; A : B : C vd;gJ  
a. 2 : 9 : 1  b. 4 : 9 : 2  c. 8 : 20 : 5  d.  4 : 18 : 3 

 

2. If a : 5 = b : 7 = c : 8 then find 
a b c

a

+ +
 

a. 1   b. 2   c. 3   d. 4 

a : 5 = b : 7 = c : 8 vdpy; 
a b c

a

+ +
 ia fz;Lgpb.  

a. 1   b. 2   c. 3   d. 4 
 

3. If 2A = 3B = 4C, then A:B:C is 

 a. 2:3:4  b. 4:3:2  c. 6:4:3  d. 3:4:6 

 
4. If A: B = 10 : 17, B :C = 34:35 and C : D = 7 : 8, then compute A : D.  

a.  2 : 1                  b.   1 : 2                  c.  5 : 8                 d.  3 : 2 
 

5. If A : B : C = 3 : 4 : 5, then : :
A B C

B C A
  is equal to 

a. 45 :48 :100        b. 48:50:99          c. 40:49 :75          d. 35 :60 :121 
 

6. If x : y = 7 : 4, then (8x + 5y) : (12x + 3y) is... 
a.   19 : 12             b.   17 : 19            c.   19 : 24             d.  24 : 19 
 

7. If A:B =
1

3
:

4

9
, B:C= 

5

6
:

7

12
, C:D = 

2

7
:

5

14
 then A:B:C:D is 

a. 40:28:35:30 b. 30:40:28:35 c. 28:30:40:35 d. 35:30:28:40 
 

8. If a : b = 2 : 3, b : c = 6 : 5 and a + b+ c = 30, then 2a + 3b + 4c is 

a. 30   b. 92   c. 100  d. 90 
 

9. If (3x+2y) : (3x-2y)=5:2 Then x : y is   
a. 5:2  b. 14:9  c. 9:14  d. 2:5 
 
 



 
10. The third proportional to 27 and 81 is... 

27 kw;Wk; 81 d; %d;whtJ tpfpj rkd; vJ?  
a.   243                  b.   342                  c.  234                  d.   486 
 

11. Find out the mean proportional between 544 and 306. 
 a.   204                  b.   166                  c.  408                  d.   480 
 544 f;Fk; 306 f;Fk; ,iltpfpjrkd; vd;d?  
 a.   204                  b.   166                  c.  408                  d.   480 
 
12. Rs. 1,000 is to be divided among A, B and C such that A gets twice as B 

and B gets thrice as C.  The share of C is                     
a. Rs. 50  b. Rs. 100  c. Rs. 125  d. Rs. 200 

 &. 1>000 I A,B,C  f;F gphpf;f Ntz;Lk;. A f;F B I Nghy ,uz;L 
 klq;Fk;. B f;F C I Nghy %d;W klq;Fk; nfhLf;f Ntz;Lk;. 

 mg;nghOJ C f;F fpilf;Fk; njhif  
a. Rs. 50  b. Rs. 100  c. Rs. 125  d. Rs. 200 

 
13. The ratio of number of boys and girls in a school of 720 students is 

 7 : 5. How many more girls should be admitted to make the ratio 1:1? 
a. 90       b. 220   c. 120                d. 240 
720 khzth;fSs;s gs;spapy; igad;fSk; ngz;fSk; 7 : 5 vd;w 

 tpfpjj;jpy; cs;sdh;. NkYk; vj;jid ngz;fs; Nrh;f;fg;gl;lhy; tpfpjk;  
 1 : 1 vd khWk;? 

a. 90       b. 220   c. 120                d. 240 
 

14. The ratio of three numbers is 2 : 4 : 7 and the sum of their squares is 1104.  
The sum of the numbers is... 
a.  8                      b.  28                    c.  16                    d.  52 
%d;W vz;fspd; tpfpjk; KiwNa 2 : 4 : 7. %d;W vz;fspd; th;f;fq;fspd; 
$Ljy; 1104. vdpy; mt;ntz;fspd; $Ljy;. 
a.  8                      b.  28                    c.  16                    d.  52 
 

15. A, B and C divide an amount of profit among themselves in the ratio 
1 1 1
: :

2 3 4
. If   the profit amount is Rs.624 find the share of B? 

a. Rs. 162  b. Rs. 192  c. Rs. 200 d. Rs. 250 
 



%d;W Ngh; (A, B, C) mth;fspd; nkhj;j yhgj;ij KiwNa 
1 1 1
: :

2 3 4
vd;w 

tpfpjj;jpy; gphpj;jspf;fg;gLfpwJ. nkhj;j yhgkjpg;G &.624. mjpy; B-d 
gq;F vd;d? 
a. Rs. 162  b. Rs. 192  c. Rs. 200 d. Rs. 250 

  
16. Three partners shared the profit in a business in the ratio 5:7:8. They had 

partnered for 14 months, 8 months and 7 months respectively. What was 
the ratio of their investments? 
a. 5:7:8   b. 28:49:64  c. 38:28:21  d. 20:49:64 
%d;W gq;Fjhuh;fs; tpahghuj;jpy; te;j ,yhgj;ij 5 : 7 : 8 vd;w 
tpfpjj;jpy; gphpj;Jf; nfhz;ldh;. mth;fs; KjyPL nra;j fhyq;fs; 
KiwNa 14 khjq;fs;> 8 khjq;fs; kw;Wk; 7 khjq;fs; MFk;. mth;fspd; 
KjyPLfspd; tpfpjq;fs; vd;d?  
a. 5:7:8   b. 28:49:64  c. 38:28:21  d. 20:49:64 
 

17. 5 mangoes and 4 oranges cost as much as 3 mangoes and 7 oranges. What 
is the ratio of the cost of one mango to that of one orange? 
a. 4 : 3   b. 1: 3  c. 3 : 2   d. 5: 2 
5 khk;gok; kw;Wk; 4 MuQ;Rg;gok; Mfpatw;wpd; tpiyAk;> 3 khk;gok; 

 kw;Wk; 7 MuQ;Rg;gok; Mfpatw;wpd; tpiyAk; xd;nwdpy;> xU khk;gok; 
 kw;Wk; xU MuQ;Rg;gok; Mfpatw;wpd; tpiyfspd; tpfpjk; vd;d?  
a. 4 : 3   b. 1: 3  c. 3 : 2   d. 5: 2 
 

18. The incomes of A and B are in the 3 : 2 and their expenditures are in the 
ratio 5 : 3. If each saves Rs. 1000, then A’s income is: 

 a. Rs. 5000   b. Rs. 6000  c. Rs. 7000  d. Rs. 8000  
 A kw;Wk; B apd; Cjpa tpfpjk; KiwNa 3 : 2 mth;fspd; nryT tpfpjk;  
 5 : 3. Xuhz;L Kbtpy; A kw;Wk; B apd; Nrkpg;G KiwNa &.1000 vdpy; A 
 apd; Cjpak; vt;tsT?  
 a. Rs. 5000   b. Rs. 6000  c. Rs. 7000  d. Rs. 8000  
 

19. In a bag, there are coins of 25p, 10p and 5p in the ratio 3 : 1 : 5. If there are 
Rs.242 in all, how many 5p coins are there? 

 a. 660   b. 220  c. 1100  d. 1000 
xU igapy; 25 igrh> 10 igrh kw;Wk; 5 igrh ehzaq;fspd; 
vz;zpf;if tpfpjk; KiwNa 3 : 1 : 5. ,tw;wpd; nkhj;j kjpg;G &.242 
vdpy; mg;igapy; cs;s 5 igrh ehzaq;fs; vj;jid? 

 a. 660   b. 220  c. 1100  d. 1000 
 



20. In a mixture of 28 litres, the ratio of milk and water is 5:2  if 2 litres of 
water is added to the mixture, find the ratio of milk and water in the new 
mixture                                     
a. 2:1   b. 1:2  c. 2:3  d. 1:3  
28 yp fyitapy; ghYk;> ePUk; 5:2 vd;w tpfpjj;jpy; cs;sJ. 
mf;fyitAld; 2 yp ePh; Nrh;j;jhy; ghy; kw;Wk; ePhpd; Gjpa tpfpjk; 
a. 2:1   b. 1:2  c. 2:3  d. 1:3  
 

21. Salaries of Ravish and Sumita are in the ratio 2:3.  If they salary of each is 
increased by Rs. 4000, the ratio becomes 40:57. What is the Sumita’s 
present salary? 
utP~; kw;Wk; Rkpjhtpd; Cjpa tpfpjk; 2:3 xt;nghUth; Cjpaj;jpYk; 
&.4>000 mjpfhpj;jhy;> Gjpa Cjpa tpfpjk; 40:57 vdpy;> Rkpjhtpd; 
jw;Nghija Cjpak; ahJ? 
a. 32000  b. 34,000  c. 38,000  d. 40,000 
 

22. The students in three classes are in the ratio 2 : 3 : 5. If 40 students are 
increased in each class, the ratio changes to 4 : 5: 7. Originally, the total 
number of students was 
a. 100   b. 180   c. 200   d. 400 
%d;W tFg;gpYs;s khzth;fspd; tpfpjkhdJ 2 : 3 : 5 Mf cs;sJ. 
xt;Nthh; tFg;gpYk; 40 khzth;fs; mjpfhpf;Fk; NghJ tpfpjkhdJ  
4 : 5 : 7 Mf khwpAs;sJ  vdpy; ,ay;ghf nkhj;j khzth;fspd; 
vz;zpf;ifahdJ  
a. 100   b. 180   c. 200   d. 400 

 
23. Three numbers are in the ratio 2:3:5 and the sum of whose squares is 608.  

the number are ___, ______. 
a. 4, 6, 10  b. 8, 12, 20  c. 25, 15, 10  d. 12:8:20 
%d;W vz;fs; 2:3:5 vd;w tpfpjj;jpy; cs;sd.  mitfis ,Ugbahf;fp 
$l;bdhy; mjd; kjpg;G 608 vdpy; me;j vz;fs; ____> _____> _____ 
MFk;. 
a. 4, 6, 10  b. 8, 12, 20  c. 25, 15, 10  d. 12:8:20 
 

24. The sum of three numbers is 38.  If the ratio of the first to the second is 1:2 
and that of the second to the third is 3:5 then the second number is  
a. 6   b. 12   c. 18   d. 24  
%d;W vz;fspd; $Ljy; 38.  Kjy; kw;Wk; ,uz;lhk; vz;fs; 1:2 vd;w 
tpfpjj;jpYk; 2 kw;Wk; 3tJ vz;fs; 3:5 vd;w tpfpjj;jpy; ,Ue;jhy; 
,uz;lhtJ vz; 
a. 6   b. 12   c. 18   d. 24  



 
25. Kaviya's mother wears a bracelet made of 35 red beads and 30 blue beads. 

Kaviya wants to make smaller bracelets using the same two coloured 
beads in the same ratio. In how many different ways can she make the 
bracelets?  
a. 3   b. 4   c. 6   d. 5 
fhtpahtpd; jha; 35 rptg;G kzpfs;> kw;Wk; 30 ePy kzpfisf; nfhz;l 
iff;fhg;G mzpe;jpUf;fpwhh;. fhtpah mNj tpfpjj;jpy; rpwpa ifg;fhg;ig 
mNj ,U tz;z kzpfisg; gad;gLj;jpr; nra;a tpUk;Gfpwhs;. mtshy; 
vj;jid ntt;NtW topfspy; iff;fhg;Gfisr; nra;a ,aYk;  
a. 3   b. 4   c. 6   d. 5 
 

26. A particular high school has 1500 students 50 teachers and 5 
administrators. If the school grows to 1800 students and the ratios are 
maintained, then find the number of teachers and administrators.  

 a. 20, 6  b. 60, 12  c. 120, 12  d. 60, 6 
 xU gs;spapy; 1500 khzth;fs; 50 Mrphpah;fs; kw;Wk; 5 eph;thfpfs; vd 
 cs;sdh;. gs;spapy; khzth;fspd; vz;zpf;if 1800 Mf cah;e;jhy; 
 Nkw;fz;l tpfpjj;jpy; vj;jid Mrphpah;fs; kw;Wk; eph;thfpfs; ,Ug;gh; 
 vdf; fhz;f.  
 a. 20, 6  b. 60, 12  c. 120, 12  d. 60, 6  

 
27. A ribbon cut into 3 pieces in the ratio 3 : 2 : 7. If the total length of the 

ribbon is 24 m. Find the length of each piece respectively.  
 a. 6 m, 4 m, 14 m    b. 14 m, 4 m, 8 m 
 c. 6 m, 16 m, 4 m    d. 4 m, 6 m, 14 m 
24 kP ePsKs;s xU hpg;gd; 3 : 2 : 7 vd;w tpfpjj;jpy; 3 Jz;Lfshf 
ntl;lg;gLfpwJ vdpy; xt;nthU Jz;bd; ePsk; KiwNa vd;d?  
a. 6 kP> 4 kP> 14 kP   b. 14 kP> 4 kP> 8 kP 
c. 6 kP> 16 kP> 4 kP   d. 4 kP> 6 kP> 14 kP  

  

28. Weekly incomes of two persons are in the ratio of 7:3 and their weekly 
expenses  are in the ratio of 5:2. If each of them saves ` 300 per week, 
then the weekly income  of the first person is  

 a. ` 7,500  b. ` 4,500  c. ` 6,300  d. ` 5,400 
,uz;L egh;fSila thu tUkhdk; 7:3 vd;w tpfpjj;jpYk;> thu nrytpdk; 
5:2 vd;w tpfpjj;jpYk; cs;sd.  mth;fs; ,UtUNk thuk; &gha; 300 
Nrkpf;fpd;wdh; vd;why; Kjy; eghpd; thu tUkhdk; ;vt;tsT?  
a. ` 7,500  b. ` 4,500  c. ` 6,300  d. ` 5,400 
 



29. After mixing 12 litres of Diesel in a petrol and Diesel solution, the 
concentration of Diesel become 75%, Instead, if he had mixed 22 litres 
diesel the concentration of petrol would have becom 24%. what was the 
total original quantity of soln.  
a. 240   b. 220   c. 228   d. 232  
12 ypl;lh; Briy Nrh;j;jgpwF ngl;Nuhy; kw;Wk; Brypd; fyitapy; Bry; 
75% cs;sJ. mjw;F gjpyhf> 22 ypl;lh; Briy mf;fyitapy; Nrh;j;jhy; 
ngl;Nuhy; 24% tUfpwJ vdpy; njhlf;fj;jpy; ,Ue;j mf;fyitapd; msT 
vd;d?  
a. 240   b. 220   c. 228   d. 232  
 

30. A vessel contains 20% concentrated solution of hydrochloric acid. If 50ml 
more hydrochloric acid is added in vessel becomes 36%. what is the value 
of hydrochloric acid in original Mixture in vessel? 
a. 90   b. 40   c. 70  d. 96  
xU ghj;jpuj;jpy; 20% i`l;Nuh FNshhpf; mkpyk; cs;sJ mjDs; 50 
kpyp i`l;Nuh FNshhpf; mkpyj;ij Nrh;f;Fk; NghJ jw;NghJ ,jd; 
rjtPjk; 36% vdpy; Kjypy; ,Ue;j i`l;Nuh FNshhpf; mkpyj;jpd; msT 
vd;d?  
a. 90   b. 40   c. 70  d. 96  
 
 

      


